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B Part one: Vocabulary

Directions: Complete the following sentences by choosing the best answer.,

121 - Waves of frustration and ........... came after the committee decision led to the unemployment of

the staff nurses.

a) distention b) discontent c) appraisal d) approval

122 _ A diet containing high levels of fat or sugar and few nutrients can lead to covvvveene s

a) famine b) slimness c) obesity d) fitness
123 _ The mark of a genius is the willingness to explore all the ........... , not just the most likely
solution,
a) alternatives b) drawbacks c) generations d) disturbances
124 _ Creative thinking requires an attitude that allows you to search for ideas and ........... your
knowledge and experience.
a) terminate b) neutralize c) manipuigte d) undermine
125 — If you think creatively, you will find out new ways {o ........... your objectives more effectively.
a) abolish b) constrain ¢) constrict d) fulfill
126 — The transplantation of body organs nceds the ............ of the dead patient’s guardians.
a) dissent b) consent c) revival d) denial of

127 . An investigation into the history of cardiovascular discases in the family showed that the

members of the family were ........... such diseases.
a) predisposedto  b) extended to ¢) precipitated by d) extradited by

128 . The doctor ordered a chest X-ray since the respiratory symptoms were not ........... to reach a
proper diagnosis.

a) deficient b) fictitious ¢) sufficient d) ambitious
129 . WHO and other health organizations are trying hard to ........... the COVID-19 disease which
still cause fatalities,
a) accelerate b) aggregate c) potentiate d) eradicate
[\
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130 - People I ooeessesess SOCTELICS benefit from carc facilities while th
deprived of such facilities.

b) cultivated

are
¢) indigent d) debilitated

a) affluent

131 = The physically fragile are MOTC coovsssssrerers: infectious diseases than the Fh)’SiCﬂ"Y robust.

a) suspicious about b) amenable to

c) enthusiastic about d) resistant to

iees SOOT after its onset.

d) persist

¢ intensive mass vaccination, the flu virus ......:

132 — Thank to th
¢) subside

a) resist b) reside

133 _ Contact lenses sometimes give better visual ........... to those in need.

¢) infirmity d) restriction

a) blurredness b) acuity

134 - Wi
34 _ With the «cccovreseeessss of cach semester, students take new courses (o attend classes.

a) adherence b) disturbance ¢) disruption d) commencement

135 _ The weather in big cities is filled with ....cc... causing numerous health problems.

a) detergents b) disinfectants ¢) contaminants d) contractors
136 - :
6 — Based on a recent study, forty percent of the offices in the ity ....c.coeee with nobedy residing in
a) vi ¢ ' |
) viable b) vacant c) occupied d) preserved
137 - The ol i
e old hospital was ........... and 2 modern one with new equipment was built as a replacement
a) deployed b) detained ¢) drenched d) demolished

.in her throat and blocked her breathing.

a) obstructi ' i
) obstruction b) ingestion ¢) suspension d) maturation
139 — WHO beli
elieves that the cost of COVID-19 vaccination is clearly .. by its life-savi 1
N -saving values.
b) compensated - ¢) manipulated d) intervened

— Garllc 1 sirsasnwnEy

consequences.
a) malodorous b) malformed c) vigilant d) wi
vigorous

/________._.———'—’_—'
________._-—-—._._———-—
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B Part two: Reading Comprehension
Directions: Read the following passages ¢aTe
Complete the questions with the most suitable W
on the information given in the passage only:

ome questions.

h passage is followed by s
ase your answers

fully. Eac
(a, b, ¢, or d). B

ords or phrascs

Passage 1
ational energy plan, not only to address future
Subsidies to the airlincs, for example, have
lack of support of the railroad .indus’try has
the development of a natio'nwlfic highway
¢ of cars, with accompanying increases in

Urgently needed for addressing the encrgy question 1s a n

energy needs, but also to avoid repeating the crrors ol the P}‘Sl-
encouraged the growth of less efficient forms of transportation;
discouraged the use of rail {ransportation. Federal support for

system, though making road travel far safer, has led (o greater us : : ; e

the consumption of gasoline. Another example was the sh:ll'l ]by 1t_1e rax-ltroa'lcf;,clgir:;SIaAt;::yAlii gr e
’ ; al- sLei otives to diescl-electric unis. \

World War Il from coal-fired stcam locom ey roes

encouraged the consumption of fuels that arc in limited supply, by causing
s i d oil to meet air pollution standards. Nor has the govcm_ment
which promoted higher

operators to switch from coal to natural gas an e
done anything to require changes in the rate structures for natural gas and electricity,
consumption by offering a large number of users a lower price per unit.

141 — According to the text, a sound national energy plan will

nd make road travel safer

a) help increase airlines’ subsidies a
portation

b) contributc to the growth of less efficient forms of trans
c) assist in meeting energy nceds
d) result in repeating errors of the past

142 _ This passage mainly ...........

a). discusses the existing problems with saving encrgy

b) deals with air pollution problem and concerns

¢) focuses on advantages of the fossil fuel and gas in human life
d) warns against the usc of the existing transportation means

143 _ The word which in the last sentence refers t0 cocevinnnne o

a) what the government has done to preserve encrgy
b) lack of change in the gas and electricity rate structure
¢) the decline in the consumption of gas and electricity
d) the users’ observance of air pollution standards

144 _ According to the passage, the development of a nationwide highway system has ........... :

a) increased road accidents with dramatic effects '
b) caused less fuel consumption and higher speed

c) encouraged more and more use of private cars

d) reduced the subsidies to the airlines and railroad industry

145 - The shift to natural gas and use of diesel-clectric units, as encouraged by the government, are

FERRR R R R

a) m'er_ni_nncd as examples of appropriate planning for future energy needs

b) criticized by the writer as they fail to address the future energy needs

¢) the ways the writer belicves to be supported so that past errors are avoided
d) the ways the government is supporting to increase its national income

VY
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Passage 2

Today, the level of healthcare has improved a lot. Presently, the goal of health carc is to have a continuum of
care for the patient; one which s integrated at all levels. Many hospitals offer a referral service or discharge
plan to patients who are being discharged. Plans for the paticnts are discussed with a dlschar'gc planner, a
person who is trained in assessing what the patients’ requirements for healthcare will be after d}scharge from
the hospital. This enables the patients to continue their care at a level which is most appropriate for them.
ltems reviewed for discharge planning include but are not limited to therapies, medication needs, living
arrangements and identification of specific goals. A few of the options that are available for persens being
discharged from an acute care hospital can include home health care, assisted living facilities, long-term care
or hospice. Among numerous care facilities, home health care is one of the fastest growing segments of the
healthcare industry. Alternatives for home care can meet both the medical and non-medical needs of a
patient. These services are provided to patients and their families at home or place of residence. Home care
1s 2 method of delivering nursing care and other therapies as required by the patient’s needs.

146 — The main idea of the passage is to ........... healthcare services.

a) highlight the improvements of
b) compare the present and past

¢) challenge the achievements of
d) introduce the obstacles affecting

147 _ Referral services or discharge plans to patients .......

a) were already common in traditional medicine
b) are to be removed to reduce treatment costs
¢) are recent developments in healthcare

d) were rooted in health assessment policies

148 . The underiined word “This” refers to ....... -

a) apost-recovery discharge from the hospital
b) assessing the patients’ post-discharge needs
¢) atrained person’s ability to assess the needs
d) adischarge planner’s healthcare assessment

149 - Home healthcare, assisted living facilities, long-term care, or hospice are ........... patients
discharged from acute care hospitals.
a) no longer available for
b) among the follow-up care services for

c) proved to be largely inappropriate for
d) not necessary for

150 - The underlined phrase “These services” refers to ........ -

a) care facilities

b) growing segments

¢) medical and non-medical needs
d) alternatives for home care

— A
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f\ developmental disability is defined as severe chronic disability 1hz.u .is altribqtable to a mental or ph)'(S{l(Eﬂl
Impairment or combination of mental and physical impainnents.mlndlwduals .wnth dcvcl'opmcntal d:tsablllllqs
were generally housed in institutions for the first hall of the 207 century. Little attention was paid to their
education, or medicinal or nutritional care. In 1963, The Developmental Disabilities Assistance and Bill of
Rights was passed. Through this Act, federal funds supported the developmclnt anc! operallon of‘state
councils, protection and advocacy systems, university centers, and Rrojccts of national .mgmﬁcancc, This act
provided the structure to assist people with developmental disabilities to pursue mcaqlngful and productive
lives. The institutions that housed these individuals gradually were closed or reduced in size. Bif 1975 these
individuals were cared for at home, in schools or in small residential facilities. lll:l _1975, Public Law (!;é.%
94-142 was passed, opening public schools to children with developmental disabilities. In 1985, PL 99'h i
(102-119 in 1992), The Early Intervention Act, was passed, bringing services to children from birth to schoo
age.

151 - Individuals with developmental disabilities were .......... . for the first half of the 20th century.

a) provided with limited education
b) offered proper medical or nutritional care

- ¢) mostly denied of being housed in institutions
d) eagerto attend the education arranged for them

152 — The year 1963 ........... for passing the “Developmental Disabilities Assistance and Bill of
Rights”.
a) shouid be notorious
b) is ethically disapproved
¢) isright to be condemned
d) deserves special appreciation

153 _ The dispatch of federal funds to support individuals with developmental disabilities ............

a) was a common happening long before the first half of the 20th century

b) caused successful elimination of the causes of developmental disabilities

c¢) followed the passing of the Developmental Disabilities Assistance and Bill of Rights
d) proved ineffective despite the huge effort made to pass the law and allocate the funds

154 . The institutions housing those with developmental disabilities ............

a) continued offering care to all in need

b) gradually became fewer and smaller

¢) failed to meet their intended goals prior to 1963
d) set up new branches in rural areas following 1963

155 - Opening public schools to children with developmental disabilities ........... the Developmental
Disabilities Assistance and Bill of Rights,

a) proved to be redundant following
b) happened nearly a decade after
¢) well coincides with

d) well preceded

4
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Passage 4

Deep Learning in medicine is one of the most rapidly and new developing fields of science which has
recently gathered momentum. Currently, almost every device intended for medical imaging has a more or
less extended image and signal analysis and processing module which can use deep learning. It provides
quantitative data necessary to make a diagnosis. The obtained quantitative features must be independent of
the inter-subject variability and the type of medical device and, above all, must allow for reproducible results
in the presence of high noise. The proposed deep learning algorithm should also ensure the independence of
the results obtained by the operator of the imaging device and, to be more exact, its position relative to the
patient or the parameter settings in the device, In addition, the proposed deep learning algorithms must be
tailored for the diagnosis of a specific disease entity. On the other hand, they must allow for reproducible

results for high inter-subject variability. These criteria make it difficult to propose a methodology for the
deep learning algorithms.

156 ~ Deep Learning in medicine

a) has a long history

b) has witnessed a sharp decline

¢) isexperiencing a speedy growth

d) is falling behind other fields of science

157 — Nearly all medical imaging devices

a) prove incompatible with deep learning
b) simplify deep learning analysis

c) are independent of deep learning

d) deploy deep learning

158 — Which of the following is NOT true about deep learning?

a) The diagnostic data are mostly qualitative.

b) Its obtained features are device independent.

c) Its obtained features must be subject-dependent.
d) The results must be reproducible.

159 — What does the underlined word “its” refer to?

a) The operator

b) The patient

¢) The deep learning algorithm
d) The imaging device

160 — The writer ........... a methodology for the deep learning algorithms.

a) criticizes criteria set to propose

b) already seems determined to propose
¢) views as impossible proposing

d) describes as challenging proposing

Scanned with CamScanner



